?

- "

“‘,--5__ -

m15w£rr47—7—
= Z %H *'ﬁli %%ﬂﬁvb\'a *ﬁ;%_r—

-

FHEGEL - ERBEEOTEEG

mmmmmmmmmmm*

"BERH 2XEL. REINFT
mA ##
Fr30F4R208. 278. 5R118. 188. 25

6A1B8.88.158.2Z2B(®A%ER £90

HE B

16:30~18:00

e &

PRTN7TI—BPIFR (ERRMEES 387-1)
H RiEHE

1.000Mm

4l N 7Rk

— BHHERIR T 12— 32— 1REHAER

= | 28RN TERES K:T4HR

Hﬁiﬁﬁﬁﬁi

X&A. BALCR<<E&ENHLUSFT.

B LAHIE, FRHR—LRXR—D L UBLAHAKES D
va—kRW=ELIH BEEICTESBEILEHLE S,

FRGENHRZE
BT H T = —EFERIER
FEEEHES  098-850-0101
HL S EE

RA 'T'&Ifk
A HRZE )




